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SA - HB S (BH) - NRAY - B e &
OFMNAER A 22| 23,000,000& 23,000
206 M=t 28,924 28,924 0
01 M= 8l 28,924 28,924 0
OdUE A=K 50,0002 *404 2,000
OLFHMAM(AESE &5 MAE)
1,000,000& 1t 1,000
Ost&al &2 11,040
o HBH =+ 10,000 =124 x12& 1,440
o E0|EtE 20,0003 x40 = 12& 9,600
Oaz7A=H +¢ 4,5003 «8H 124« 12& 5,184
Ogd X 300,000& «12& 3,600
O&EI & JIAH 25X 6,100
olED M HEEX 50,0002 *50H4 2,500
ol)| BHE XUHI S HIIM
3,000,000 3,000
oSMZRI, IHRES S LAEIIMN
600,000& 600
207 A I | 700 700 0
01 A E S| 700 700 0
OFAN HAEA JAJLEZA 700,000 13| 700
307 QI2t0| M 417,801 406,839 10,962
05 QI2+RIE S 417,801 406,839 10,962
OFA 222 9| 34,816,694% x12& 417,801
401 Al Bl 208 279,780 243,180 36,600
01 Al HI 279,780 243,180 36,600
OFFEAMN & BAHALA(NIBAES) HEEAH
2,590,000& *23| 5,180
OEdea ZWa)| WH3A
19,000, 000& %14 19,000
O3AMN ==22dI| WHIBA 72,600,000 «14] 72,600
OFAL =i &™EE JID] X S At
20,000, 0003 *14] 20,000
OFAL 820 21830 &X
1,000,000 *14] 1,000
OEMAS =63 A 12,000,000& 12,000
OFEA SHUA SA 172,413 *870m* 150,000
o E 22 55,850 50,856 4,994
= 15,300
- 40,550
WE22 55,850 50,856 4,994
= 15,300
- 40,550
MHESAIXIL & F 55,850 50,856 4,994




2EAM: R
M pEze
Chelr DtE 22 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 75.300
T 40,550
101 @144 dl 14,690 12,435 2,255
= 6.617
T 8,073
04 JIZHHZ2XREES 14,690 12,435 2,255
OMEZAIXIIN EASE 14,690
cORY(RBELLTEH)
81,1969 1% x163L 13,235
= 6,617
3 6,618
oI EEREZ 13,234,948% x4 . 5% 596
o AABEHELEF 13,234,948 *3.43% 454
clELEREZ 13,234,948% *1.65% 219
SHNMNMEERE S 13,234,948% 1% 133
L EIQAEEHREE S 453,050 x11.52% 53
201 €82l 40,280 37,541 2,739
2 8,243
- 32,037
01 At 22l 38,240 35,756 2,484
OMESAXIN &4F & XA 2,328
SN 228 FY(EH S)
1,500, 000& 1,500
cZABESKN2(S M) MZE 60% *5,0000H 300
CIHE BAIXIIL TAF S|
8,000& 3 #224 528
OMESAXI 2 & Z2H g 484
o=E 49 66,0002 23] 20K 264
os8 g2t 11,000& *23| = 1004 220
OZB4+E 30,928
SUFNI} US4 42
43,6002 11,0002 XI/16.62 28,857
= 8,243
- 20,614
ocolAME ZE++2 43,6003 *x30E Xl *50% 654
c0l9dlE B2 43,6002 x50 Xl x50% 1,090
c0lsSEXN d&5+==+8
43,6003 *50E Xl *0.3%50% 327
ORsAIIAIAR &8
100,000 »9H x53| 4,500
02 =224l 2,040 1,785 255
ORERI(EY - 2FEXNL)
400& *5,100S 13| 2,040
202 oddl 880 880 0
- 440
2 440




SM: HPD
M pEze
Chelr DtE 22 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 = LH 4 bl 880 880 0
OMNESAIXRIIL ZAF (HHl 20,000 «2H 22 880
2 440
=) 440
HEE FSs4 SH23 =24 1,420 1,420 0
HEE FSL SH2s =24 1,420 1,420 0
SENHZFS St J& SH2s &8 1,420 1,420 0
201 Let24E] 1,420 1,420 0
01 At 22l 1,420 1,420 0
OSSR 28 U2 M= 100& *3,200% 320
OsHg=e 28 &9 M
60,000 *5H »23] 600
OMNLZSUSHAL SUSIHAIS M=
10,000 *50H4 500
HY2FZH (HRD) 101,169 98,709 2,460
el 2l 41,544 39,804 1,740
FAt2e| el 2 A 41,544 39,804 1,740
101 124 dl 40,326 39,804 522
03 B2 (RIHY)22NE S 40,326 39,804 522
OFAM2LIA 40,326
=JIE= 2,472,690& 123 29,673
octESdE 20,000& 128 240
o XA+ 20,000& «12& 240
o MG A 140,000& =128 1,680
ocEESIHHI 2,449 ,900& *80% 1,960
oA2A2RFE 13,781& x150%*220 Al 2+ 4,548
cHIRSFIIH=E 110,248 18 1,985
303 &3 1,218 0 1,218
02 dta0i= 1,218 0 1,218
Oduan= 3,2083,420& x38% 1,218
Jl=&l 59,625 58,905 720
A= &3l 59,625 58,905 720
201 £B-2dH| 8,505 8,505
01 At 22/l 8,505 8,505
O2M2g JlE2+8H| 279,000& »15Y 4,185
OJl2ge=8 224l 8,000& 34 «15H 128 4,320
202 4l 46,800 46,800
01 = LH 4 HI 46,800 46,800
OJlege=8 0l 260,000& =15 «12& 46,800




2M: R

H: HHE2IZH (W)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
203 &R =&H| 3,600 3,600 0
04 EA2YYRE T 3,600 3,600 0
OEMZAEH 300,000& x12& 3,600
405 XHo&HF S HI 720 0 720
01 AL =SB F SHI 720 0 720
OF& Xt #¢ 240,000& 34 720
MRES(MHR) 2,000,000 2,000,000 0
WEHN X = 2,000,000 2,000,000 0
MNEA A= =4 2,000,000 2,000,000 0
702 0|28 &E2 2,000,000 2,000,000 0
(A= PSE—= 2,000,000 2,000,000 0
OXEANAHE D2 HE2 2,000,000,000& 2,000,000




